Algebra 1 Name

Exponent Rules - Part 1 Practice Date Period__
Combining Like Terms
Simplify each expression.
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The Product Rule
Simplify. Your answer should contain only positive exponents.
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The Quotient Rule
Simplify. Your answer should contain only positive exponents.
2 ghi e
15) — = — 16) =D
4 o Ed
1 = X7
33 4.3
17) 3m4n3 18) 4x3y2
2m'n - 3xy J3 32
3 o 4%y
2 B
ot o
M o i
19) n’ 20) vy
3m'*n? 2u'
| 5 %4—2/ Ly Bista 2
-——-——? - vV
2m 9
A s oty
3m 4 oz
3 4
—Xy Y
21 22
) ~2xy’ ) _4x*y?
. B8 -3 -3
jo i 74 o4
= 4
2 A



